

$${}^{x:y}P dx + {}^{x:y}Q dy = 0$$

$$\frac{\partial P}{\partial y} = \frac{\partial Q}{\partial x}$$

$${}^{x:y}\gamma = \int \int_{ds dt}^x \int^y \int^{s:t} \frac{\partial P}{\partial y} = \int \int_{ds dt}^x \int^y \int^{s:t} \frac{\partial Q}{\partial x}$$

$$\frac{{}^{x:y}\overline{\partial\gamma}}{\partial x} = {}^{x:y}P: \quad \frac{{}^{x:y}\overline{\partial\gamma}}{\partial y} = {}^{x:y}Q$$

$$\frac{\partial\gamma}{\partial x} = \frac{\partial}{\partial x} \int \int_{ds dt}^x \int^y \int^{s:t} \frac{\partial Q}{\partial x} = \int \int_{dt}^y \int^{x:t} \frac{\partial Q}{\partial x} = \int \int_{dt}^y \int^{x:t} \frac{\partial P}{\partial y} = {}^{x:y}P$$

$$\frac{\partial\gamma}{\partial y} = \frac{\partial}{\partial y} \int \int_{dt ds}^y \int^x \int^{s:t} \frac{\partial P}{\partial y} = \int \int_{ds}^x \int^{s:y} \frac{\partial P}{\partial y} = \int \int_{ds}^x \int^{s:y} \frac{\partial Q}{\partial x} = {}^{x:y}Q$$

$${}^{x:\mathbf{c}}\gamma = C$$

$$2xydx + (x^2 + 1) dy = 0$$

$$(2x + y) dx + (x - 2y) dy = 0$$

$$(x^{x+y\mathbf{c}} + x^{x+y\mathbf{s}}) dx + x^{x+y\mathbf{c}} dy = 0$$

$$y e^{xy} dx + (1 + x e^{xy}) dy = 0 \xrightarrow{\text{ex}} e^{xy} + y = C \text{ implicit}$$

$$2x^{3y\mathbf{s}} dx + 3x^2^{3y\mathbf{c}} dy = 0 \xrightarrow{\text{ex}} x^2^{3\mathbf{s}} y = C$$

$$\underbrace{2x - \frac{y}{x^2}} dx + \frac{dy}{x} = 0 \xrightarrow{\text{ex}} x^2 + \frac{y}{x} = C \Rightarrow y = x \underbrace{C - x^2}_{\text{explicit}}$$

$$(e^{xy\mathbf{c}} + 2(x - y)) dx = (e^{xy\mathbf{s}} + 2(x - y)) dy \xrightarrow{\text{ex}} e^{x\mathbf{c}} + \overbrace{(x - y)^2}^{\text{}} = C \xrightarrow{y(0)=\pi} C = \pi^2 - 1$$

$$y' = -\frac{y^y\mathbf{c} + 2xe^y}{x^{\mathbf{s}} + x^2e^y + 2} \xrightarrow{\text{ex}} y^x\mathbf{s} + x^2 e^y + 2y = C$$

$$\underbrace{e^x + y^2 x} dx + x^2 y dy = 0 \xrightarrow{\text{ex}} e^x + \frac{x^2 y^2}{2} = C \xrightarrow{y(1)=0} C = e \Rightarrow y_{0 < x \leq 1} = \frac{\sqrt{2(e - e^x)}}{x}$$

$$\underbrace{\frac{y}{x} + 6x} dx + \underbrace{x_0 - 2} dy = 0 \xrightarrow{\text{ex}}_{y(e)=1} y = \frac{3e^2 - 1 - 3x^2}{x_0 - 2}$$

$$e^{y^2} + 2 + (2xye^{y^2} - 4y^2) y' = 0 \xrightarrow{\text{ex}}$$

$$(xy^2 - 3) dx + \underbrace{x^2 y + 2y} dy = 0 \xrightarrow{\text{ex}}$$

$$\underbrace{2xy^2 + 2y} + \underbrace{2x^2 y + 2x + y} y' = 0 \xrightarrow{\text{ex}}$$